
ES-203 No. of Printed Pages : 4 

CERTIFICATE IN PRIMARY TEACHING (CPT) 
Module 1 of DPE 

Term-End Examination 

December, 2018 

ES-203 : TEACHING OF ENVIRONMENTAL 
STUDIES 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What kind of first-hand experiences can be 
provided to primary school children while 
teaching the concept 'Air Pressure' ? Illustrate 
your answer with any three activities. 

OR 
How will you make primary children understand 
that 'water is a good solvent ' ? Illustrate your 
answer with any three activities, one each to show 
that solids, liquids and gases dissolve in water. 

2. Answer the following question in about 
600 words : 
Discuss the role of science in the development of 
the world. Illustrate your answer with any three 
examples. 

OR 
Explain the concepts of 'civilization and culture'. 
Substantiate your answer with any three 
activities. 
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3. Answer any four of the following questions in 
about 150 words each : 

(a) Explain briefly the elements of 
Environmental Education. 

(b) What are the competencies to be achieved 
by primary school children through 
'Environmental Studies' ? 

(c) Briefly explain the concept of 'Integrated 
Approach' with an example. 

(d) Differentiate 'formative and summative 
evaluation giving an example for each. 

(e) How will you use 'puppets' to teach the 
concept of 'Environmental studies' ? 
Explain with the help of an example. 

(f) Explain briefly 'Infusion model' with an 
example. 

4. 	Answer the following question in about 
600 words : 

How does evaluation help the teacher at the 
primary stage ? Select any topic from 
'Environmental Studies' and prepare five 
multiple-choice and five matching-type test items. 
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